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1.   Quantity A is greater
2.   Quantity B is greater
3. Quantity B is greater
4. The relationship cannot be determined
5. Quantity B is greater
6. The two quantities are equal
7. The two quantities are equal
8. Quantity B is greater
9. 100
10. –3

11. 33.0 and 34.0
12. 5
13. 676,000
14. Boston
15. 1 1/2
16. 1/4
17. (29)(37)
18. (ty)/s
19. 4/7
20. 160 

GRE PowerPrep Test 2, First QR Section

GRE PowerPrep Test 2, Second QR Section (Version 1)
Use this answer key if your first question is about equilateral triangle T.

1.   The two quantities are equal
2.   The two quantities are equal
3. Quantity B is greater
4. The relationship cannot be determined
5. The two quantities are equal
6. Quantity B is greater
7. Quantity A is greater
8. –3
9. (-10,–5,0,5,10),  (–20, –10, 0, 10, 20), & (–25, –5, 0, 5, 25)

10. 6x2 – xy

11. 0.04
12. a ≠ b and c ≠ 0
13. 12
14. 5%
15. (2/5)x million dollars
16. 1/4
17. 3
18. $150
19. –15
20. 1,280, 6,480, 10,240, and 12,800 

GRE PowerPrep Test 2, Second QR Section (Version 2)
Use this answer key if your first question is about two nonzero numbers on the number line.

1.   Quantity B is greater
2.   The two quantities are equal
3. Quantity B is greater
4. The relationship cannot be determined
5. The relationship cannot be determined
6. Quantity B is greater
7. Quantity B is greater
8. 25
9. –5000/3
10. 6.7%

11. Multiply by 0.001 and Divide by 1,000
12. h2

13. D
14. One
15. Two
16. 20%
17. $30,000
18. x + y = 0 and x + y = 1
19. 2/5
20. Four

GRE PowerPrep Test 2, Second QR Section (Version 3)
Use this answer key if your first question is about City X's daily low temperatures.

1.   The relationship cannot be determined
2.   Quantity A is greater
3. The two quantities are equal
4. The relationship cannot be determined
5. The two quantities are equal
6. Quantity B is greater
7. The two quantities are equal
8. 12
9. 50
10. 1 – (2/5) – (2/3)(1 – 2/5)

11. x + 2y
12. 90
13. 30, 35, 40
14. 2/3
15. 56%
16. $9,240
17. 100/101
18. –36
19. $782,000
20. y = z, y > z, and x > z


